Math 107   
Test 3
(Chapter 3, Sections 4.1 & 4.2)
Name_________________________

1.
Complete the following short answer problems. 

a)  Is (1, 2) a solution of the following  system? 
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Yes or No?


__________

b)  Given the equation y = 3x ( 5, find the slope and the y-intercept.

slope  ______
y-intercept  ______

c)  Graph the point (2, (1) 


d)  Write the equation of the line whose slope is 2 and y-intercept is 3.


_________________

e)  Is the point (2, (1) on the line 
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Yes or No?


__________

f)  Identify the ordered pair for the point shown:




___________


(ordered pair)

g)  Graph the line 
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h)  Find the x-intercept for the line   
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i)  Complete the ordered pairs for the equation 
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(5, ____)


(_____, 5)

[33]

2.
Find the slope of each line:
(5 points each)


a.
the line 
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slope = __________


b.
 






slope = __________


c.  the line connecting the points ( 2, 3 ) and (4, (1 ).




slope = __________

3.
Find the equation of the lines in parts b and c in problem 2:
(5 points each)


b.
the line whose graph was shown




equation: ____________________


c.  the line connecting the points ( 2, 3 ) and (4, (1 ).




equation: ____________________

[25]

5.
Find the equation of the line that goes through the point (2, 3) and has slope 2.
(5 points)

4.
Graph the following lines.
(6 points each)


a.
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b.
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5.
Find the solution to the system whose graph is shown.
(5 points)




_________________

(ordered pair)

[22]

6.
Solve the following systems: 
(10 points each)


a)
x (  y = 7




x + y = 9




b) 
3x (  y = 16


    

6x ( 2y = 12

[20]
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